Scribe Notes 12/01/2010
Computational Thought


The class started with the ‘Cheating Husbands Problem’:

Solution:
Let Kw (x) denote ‘Wife w knows x husband is cheating’.

Case1: One cheating husband (Total couples = 3) 
If there is only 1 unfaithful husband, then every woman in the Kingdom knows that except for his wife, who believes that everyone is faithful. Thus, as soon as she hears from the Queen that unfaithful men exist, she knows her husband must be unfaithful, and kills him. 
 ?        X       X
h1      h2      h3
  |	 |         |
 w1    w2     w3 

First night:
Kw1(∃ cheating husband)∧(no other husband is cheating)
		                __    __				
= Kw1(h1 ∨ h2 ∨ h3)∧(h2 ∧ h3)
= h1
w1 kills h1 the very first night.

Case2: 2 cheating husbands (Total couples = 3, but could have any number of faithful husbands)
?        X        
h1      h2      h3
  |	 |         |
 w1    w2     w3   

Kw1(∃ cheating husband)∧(h2 cheats) & Kw1(∃ cheating husband)∧(h2 cheats)
Night1:    
                                     __                                          __
= Kw1(h1 ∨ h2 ∨ h3)∧(h3) & Kw2(h1 ∨ h2 ∨ h3)∧(h3)
No one kills their husband on the first night The bars are not working. You should use ~h3 instead.
 Night2:                                                                                        __
= Kw1(h1 ∨ h2 ∨ h3)∧(at least one of 2 of h1,h2,h3 cheat)∧(h3) & Kw2(h1 ∨ h2 ∨ h3)∧(at least one 
                                       __
of 2 of h1,h2,h3 cheat)∧(h3)
                                                                          __
=Kw1& Kw2 (h1+h2+h3)*(h1h2+h2h3+h1h3)*h3
= Kw1& Kw2 (h1 ∧ h2)
Both w1 and w2 kill their husband the second night.
After talking about the Cheating husband’s problem, Jeremy gave a presentation on ‘Types & Trends of Computer Memory’. He talked about:

· Hierarchy of memory[image: Macintosh HD:Users:aa2437:Desktop:800px-ComputerMemoryHierarchy.png]

· Different characteristics of memory 
· Different kinds of memory – volatile vs. non-volatile
· RAM (volatile) vs. ROM (non-volatile)
· FLASH – somewhere between RAM and ROM
· Configuration of FLASH memory- contains 2 gates & transistors and one oxide layer between the control gate and floating gate. Diagrams showing: (1) When charge flowing through floating gate is below 50% and (2) When charge flowing through floating gate is above 50%
· Magnetic (Hard Disk)
· RAM  - cell with transistor & capacitor. 2 kinds of RAM: 1) DRAM(dynamic, has to be refreshed)
								    2) SRAM(static,no need to refresh, faster)
·  Cache – Faster but smaller capacity
· Processor Register – built into the CPU, fastest, small capacity
· Trends
· RAM demand increasing 
· DDR3 SDRAM prices declining
· DDR2 will remain prevalent still for next several years because people already have it and DDR2 & DDR3 not compatible
· RAM vs. FLASH SSD projections – SNAND becoming cheaper
· SSD shipment increasing

Finally Professor Shasha ran a few Knapsack Problems.
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